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void create_playerbullet()

{
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if( [/ D] )
{
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t++
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if(t%3==1)
{
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for(int i=0;i<BULLET;i++)
{
HFEEL TV RN DOE SN L, HEED
if(playerbullet[i]. [7VH ] ==0)
{
IfFEx 52 %
playerbullet[i]. [/T#i®D] =1;
ITBHEDIEEIZHZ S 5
playerbullet[i]. [/U#H ] = playerx +
(player.size_x - playerbulletl[il.size_x)/2;
playerbullet[i]. [7V#] = playery -
playerbulletl[i].size_y;
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break;
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void create_enemybullet()

{
double ang; //B#E L ED A FE & KT D A%
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for(int i=0;i<ENEMY;i++)
{
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enemy/[i].t++;
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if(enemyli].t%15==0)
{
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for(int j=0;j<BULLET;j++)
{
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if(enemybullet[il[jl.hp==0)
{
% 5%, (hp!=0 127 %)
enemybullet[il[j]. [/HE®] =1;
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enemybullet[il[jl. [/ D]

enemylil.x + enemyli].size_x/ 2;

enemybullet[i][jl. [/UH D]

enemylil.y + enemylil.size_y;
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ang=atan2( (double) ( (player.y

+

+ player.size_y/2) -(enemylily + enemylil.size_y) ) , (double)( (player.x
player.size_x/2) - (enemylil.x + enemylil.size_x/2) ) );

enemybullet[il[jl.vx =
cos(ang)*8;

enemybulletl[il[jl.vy =

sin(ang)*8;
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break;
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void move_playerbullet()

{
115~~~ T DOiE(playerbullet[0] ~playerbullet[BULLET-1(=199)])




for(int i=0;i<BULLET;i++)
{
IMhp!=0, T 72D HAFAEL TWiIUE
if( [JE®] )
{
1%,y 7 10 D FE % BUREAEIZ N 2 %
playerbulletlil.x += [/ ] 5
playerbullet[il.y += [/HD] ;
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if(playerbullet[il.y < -playerbullet[i].size_y)
{
[ ] =0;
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if(playerbullet[il.y < -playerbullet[i].size_y)
{
playerbullet[i].hp=0;
H
if(playerbullet[il.x < -playerbulletl[il.size_x)
{
playerbullet[i].hp=0;
}
H
v BREOEOFSE)

W DO OB EN T void move_enemybullet BI% T17 > T\ E 9, B D
DOBENEFRI U7 A THRWNTAT I,

4. 7 =2 —7H OO L
ZZETIREBVEEE L — 7 UPICHAAALTEITENS LS L
THEEE EHA, ZHHHEIEIOE I ZZZ|T-> TRV, SEITEIED
BT AT 9 BI%L void update |2 ECIERL L7 4 OB ZMHAALTT S
AN




